Math 1A (9:30am - 10:20am) Group Members’ Names:
Group Quiz 4

Thu Feb 5, 2009

SCORE:__/ 10 POINTS NO CALCULATORS ALLOWED
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Sketch the derivative of the following function on the same set of axes.
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When a fixed quantity of a gas is compressed to a volume of x liters, the pressure exerted by the gas SCORE: ___ /2 POINTS

(in atmospheres) is given by f{x). Interpret the following algebraic statements, making sure to specify the units of all numbers you mention.
NOTE: Do NOT use the phrases “rate of change”, “tangent line”, “secant line” or “derivative of”.
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Find a quadratic function f(x) suchthat f(1)=4, f'(1) =-3 and f"(1) = 2. Show your work. SCORE: __ /3 POINTS
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Sketch the derivative of the following function on the same set of axes. SCORE: __ /4 POINTS
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When a fixed quantity of a gas is compressed to a volume of x liters, the pressure exerted by the gas SCORE: /2 POINTS
(in atmospheres) is given by f{x). Interpret the following algebraic statements, making sure to specify the units of all numbers you mention.
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NOTE: Do NOT use the phrases “rate of change”, “tangent line”, “secant line” or “derivative of”.
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If y= : , find 7 — . Simplify your answer completely. SCORE: /2 POINTS
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Find a quadratic function f(x) suchthat f(=1)=2, f'(=1)=-3 and f"(-1) = 4. Show your work. SCORE: __ /3 POINTS
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